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 A 1

 A 2

 A 3

 A 4

 A 5

 A 6

 A 7

 A 8

 A 9

 A 10

 A 11

 A 12

 A 13

 A 14

 A 15

40 : 8 = ______ 4 : 4 = ______ 

4 · 8 = ______ 4 : 4 = ______ 

2 · 24 = ______ 4 · 7 = ______ 

2 · 26 = ______ 4 · 3 = ______ 

38 : 2 = ______ 8 · 8 = ______ 

42 : 2 = ______ 24 : 4 = ______ 

44 : 4 = ______ 2 ·  ______  = 12 

4 · 9 = ______ 30 : 2 = ______ 

8 :  ______  = 1 24 : 2 = ______ 

4 ·  ______  = 48 8 ·  ______  = 48 

8 ·  ______  = 24 4 ·  ______  = 64 

______  : 2 = 17 4 ·  ______  = 24 

4 ·  ______  = 16 8 ·  ______  = 32 

4 · 2 = ______ 40 : 8 = ______ 

4 ·  ______  = 68 16 :  ______  = 4 
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 A 1

 A 2

 A 3

 A 4

 A 5

 A 6

 A 7

 A 8

 A 9

 A 10

 A 11

 A 12

 A 13

 A 14

 A 15

4 · 7 = ______ 8 · 4 = ______ 

16 : 8 = ______ 48 : 2 = ______ 

8 : 8 = ______ 8 · 4 = ______ 

20 : 2 = ______ 40 : 4 = ______ 

32 : 8 = ______ 4 · 10 = ______ 

2 ·  ______  = 34 10 :  ______  = 5 

32 :  ______  = 8 2 · 30 = ______ 

2 ·  ______  = 6 16 : 8 = ______ 

8 ·  ______  = 40 8 · 8 = ______ 

4 : 4 = ______ 20 :  ______  = 5 

24 : 2 = ______ 2 ·  ______  = 4 

2 ·  ______  = 24 54 :  ______  = 27 

4 ·  ______  = 28 40 :  ______  = 5 

80 :  ______  = 10 8 ·  ______  = 32 

8 · 4 = ______ 4 · 11 = ______ 
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 A 1

 A 2

 A 3

 A 4

 A 5

 A 6

 A 7

 A 8

 A 9

 A 10

 A 11

 A 12

 A 13

 A 14

 A 15

30 : 2 = ______ 32 : 8 = ______ 

32 : 8 = ______ 4 · 4 = ______ 

16 : 4 = ______ 8 · 2 = ______ 

4 · 7 = ______ 24 : 2 = ______ 

2 · 8 = ______ 22 : 2 = ______ 

32 :  ______  = 4 4 · 5 = ______ 

14 : 2 = ______ 8 ·  ______  = 16 

32 :  ______  = 4 4 ·  ______  = 28 

4 · 11 = ______ 28 :  ______  = 7 

28 :  ______  = 7 40 : 8 = ______ 

8 · 7 = ______ 4 ·  ______  = 40 

______  · 17 = 68 ______  · 18 = 72 

______  : 8 = 10 14 :  ______  = 7 

84 : 2 = ______ 4 · 14 = ______ 

4 · 16 = ______ ______  : 4 = 5 
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 A 1

 A 2

 A 3

 A 4

 A 5

 A 6

 A 7

 A 8

 A 9

 A 10

 A 11

 A 12

 A 13

 A 14

 A 15

16 : 2 = ______ 40 : 8 = ______ 

32 : 4 = ______ 6 : 2 = ______ 

32 : 8 = ______ 4 · 8 = ______ 

48 : 4 = ______ 2 · 5 = ______ 

24 : 8 = ______ 48 : 4 = ______ 

4 : 4 = ______ 2 · 4 = ______ 

20 :  ______  = 5 58 : 2 = ______ 

32 :  ______  = 8 2 · 21 = ______ 

32 : 8 = ______ 16 :  ______  = 2 

56 : 8 = ______ 40 :  ______  = 20 

8 :  ______  = 1 ______  · 4 = 8 

8 :  ______  = 1 2 ·  ______  = 22 

4 · 8 = ______ 8 ·  ______  = 40 

______  · 3 = 24 88 :  ______  = 22 

8 ·  ______  = 56 78 :  ______  = 39 
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 A 1

 A 2

 A 3

 A 4

 A 5

 A 6

 A 7

 A 8

 A 9

 A 10

 A 11

 A 12

 A 13

 A 14

 A 15

8 · 2 = ______ 40 : 2 = ______ 

8 · 1 = ______ 28 : 4 = ______ 

4 · 4 = ______ 4 · 1 = ______ 

8 : 4 = ______ 8 : 8 = ______ 

4 · 11 = ______ 2 · 3 = ______ 

8 ·  ______  = 16 2 ·  ______  = 14 

12 : 4 = ______ 4 ·  ______  = 4 

2 ·  ______  = 40 38 : 2 = ______ 

40 : 8 = ______ 4 · 14 = ______ 

4 ·  ______  = 24 2 ·  ______  = 70 

36 : 4 = ______ 40 : 4 = ______ 

4 · 19 = ______ ______  · 9 = 72 

4 ·  ______  = 60 26 :  ______  = 13 

______  · 2 = 16 ______  : 8 = 11 

______  : 2 = 27 2 ·  ______  = 86 
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 A 8
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48 : 8 = ______ 2 · 7 = ______ 

2 · 7 = ______ 32 : 8 = ______ 

10 : 2 = ______ 44 : 2 = ______ 

48 : 8 = ______ 56 : 8 = ______ 

24 : 8 = ______ 4 · 2 = ______ 

4 ·  ______  = 44 8 · 8 = ______ 

2 ·  ______  = 44 36 :  ______  = 9 

2 · 21 = ______ 72 : 4 = ______ 

4 · 6 = ______ 48 : 8 = ______ 

44 : 4 = ______ 8 ·  ______  = 64 

______  · 7 = 56 ______  · 9 = 72 

______  : 4 = 4 48 :  ______  = 24 

4 :  ______  = 2 4 · 12 = ______ 

______  · 7 = 56 ______  · 18 = 72 

16 : 8 = ______ ______  · 3 = 12 
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 A 1

 A 2

 A 3

 A 4

 A 5

 A 6

 A 7

 A 8

 A 9

 A 10

 A 11

 A 12

 A 13

 A 14

 A 15

8 · 5 = ______ 40 : 4 = ______ 

8 · 3 = ______ 20 : 4 = ______ 

44 : 2 = ______ 4 · 10 = ______ 

48 : 8 = ______ 8 · 5 = ______ 

2 · 20 = ______ 2 · 1 = ______ 

8 :  ______  = 1 4 ·  ______  = 56 

8 · 7 = ______ 2 ·  ______  = 18 

2 ·  ______  = 16 4 · 1 = ______ 

64 :  ______  = 8 4 ·  ______  = 44 

4 · 6 = ______ 8 ·  ______  = 24 

32 : 2 = ______ ______  : 8 = 8 

48 :  ______  = 6 ______  : 2 = 29 

10 : 2 = ______ 40 : 4 = ______ 

24 : 2 = ______ 2 · 19 = ______ 

______  : 8 = 9 ______  : 2 = 16 

40 

10

24 

5

22 

40

6 

40

40 

2

 8 

 14

56 

 9

 8 

4

 8 

 11

24 

 3

16 

 64

 8 

 58

5 

10

12 

38

72 

32

2er, 4er und 8er im Zahlenraum 100 Code Nr. 48 Nr. 48

Name,
Klasse: Datum:

©
 2

0
1

5
 B

e
rn

h
a

rd
 S

to
rc

h
e

rs
te

llt
 m

it
 R

A
G

T
IM

E
    EEEE

DDDD
UUUU

to
o

ls

3
0

,0
0

2
9

,0
0

1
,0

1
,1

1
,2

1
,3

2
8

,0
0

2
7

,0
0

1
,4

1
,5

1
,6

1
,7

2
6

,0
0

2
5

,0
0

1
,8

1
,9

2
,0

2
,1

2
4

,0
0

2
3

,0
0

2
,2

2
,3

2
,4

2
,5

2
2

,0
0

2
1

,0
0

2
,6

2
,7

2
,8

2
,9

2
0

,0
0

1
9

,0
0

3
,0

3
,1

3
,2

3
,3

1
8

,0
0

1
7

,0
0

3
,4

3
,5

3
,6

3
,7

1
6

,0
0

1
5

,0
0

3
,8

3
,9

4
,0

4
,1

1
4

,0
0

1
3

,0
0

4
,2

4
,3

4
,4

4
,5

1
2

,0
0

1
1

,0
0

4
,6

4
,7

4
,8

4
,9

1
0

,0
0

9
,0

0

5
,0

5
,1

5
,2

5
,3

8
,0

0

7
,0

0

5
,4

5
,5

5
,6

5
,7

6
,0

0

5
,0

0

5
,8

5
,9

6
,0

0

zur Vollversion

VO
RS

CH
AU

http://www.netzwerk-lernen.de/::15933.html


1.)

2.)

3.)

4.)

5.)

6.)

7.)

8.)

��

��

��

��

��

��

��

��

9.)

10.)

��

��

11.)

12.)

��

��

13.)

14.)

��

��

15.) ��

 A 1

 A 2

 A 3

 A 4

 A 5

 A 6

 A 7

 A 8

 A 9

 A 10

 A 11

 A 12

 A 13

 A 14

 A 15

2 · 2 = ______ 2 · 20 = ______ 

32 : 4 = ______ 8 · 6 = ______ 

2 · 7 = ______ 4 · 7 = ______ 

8 · 3 = ______ 4 · 2 = ______ 

4 · 10 = ______ 4 · 2 = ______ 

24 :  ______  = 12 2 · 14 = ______ 

4 :  ______  = 2 22 : 2 = ______ 

8 ·  ______  = 48 2 ·  ______  = 48 

12 : 4 = ______ 2 ·  ______  = 28 

48 :  ______  = 12 8 · 2 = ______ 

24 :  ______  = 3 4 ·  ______  = 36 

40 :  ______  = 5 8 · 8 = ______ 

2 ·  ______  = 66 10 : 2 = ______ 

24 :  ______  = 3 ______  · 18 = 36 

8 · 6 = ______ 2 · 29 = ______ 
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 A 14

 A 15

2 · 19 = ______ 2 · 13 = ______ 

4 : 4 = ______ 2 · 14 = ______ 

48 : 8 = ______ 2 · 19 = ______ 

4 · 9 = ______ 52 : 2 = ______ 

8 · 6 = ______ 2 · 10 = ______ 

40 :  ______  = 10 8 ·  ______  = 56 

32 :  ______  = 4 16 :  ______  = 2 

2 ·  ______  = 6 16 :  ______  = 2 

8 ·  ______  = 64 10 :  ______  = 5 

42 : 2 = ______ 2 · 20 = ______ 

8 ·  ______  = 80 8 · 5 = ______ 

______  : 4 = 17 72 :  ______  = 18 

______  · 3 = 24 ______  : 8 = 2 

40 :  ______  = 5 2 · 31 = ______ 

______  : 4 = 16 4 :  ______  = 2 
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